2025F HRBEAAR (SFHF) EatIEENE
—. BILEREE (AXEH8/NE , §/E55 , $#405)

1. [Bi%]
B f(z) =In(vVz®?+1—2z)(—0c0o <z < +00) £ ( ).
(A) FHRH (B) fBER%
(C) EFIEBERE (D) BEFXIBEE
2. [BiE]
Y- 0m, In(1+2?) 2222 19C ).
(A) |’ S (B) BMEZFE N
(O) EMEFHE N (D) EIMEBEIEEMN LT
3. [BiE]
z=02 f(z) = s“;x MC ) ks,
(A) E—E[aM = (B) E—KEl=
(C) ZHialk= (D) B]X[E]#fr =
4. [BiE]
&M f(2) ER 2 = 20 #7IF, B f'(2z0) =1 , W lim foo2h)—flath) _
*>
(A) =2 (B) 2
(c) -3 (D) 3
5. [Bif]
sin® z
N x#0 o s
s f(x) = z oz =0483%7H( ).
x, z=0
(A) 0 (B) 1
(C) sinl (D) RFEE
6. [Hif]
BE (zg, f(xy)) B y = f(z) WIR&, B f/(z) BE, MW—-FE( ).
(A) f"(z0) =0 (B) f'(z0)
(C) f"(zo) >0 (D) f"(z0) <O
7. [Bif]

ZE f(z) HRE df(z) = —2zsinz?dz , W f(z) = ( y.

(A) cosz? (B) cosz?+C

(C) sinz?+C (D) —cosz?2+C



8. [BiE]
% F(z)=f(z) . W [ f(Bz+1)dz = ( ).

1
(A) SF(3z+1)2 (B) F(3z+1)+C

1
(C) gF(3w+1)+C (D) 3F(3z+1)+C

—. HEZT/E (KBS , §/J5% , H#409)

1. [EZE

B f(z)=vV2—z+In(z—1) WEXER ().
2. [HEZE]

] ,}Ef)lo (n+1)(2237z;711g(273n) = ( Y.

3. [EZE

EE f(z) = 2> — 622 + 9z — 3 HIMAEBR ().
4. [EZ

y=xzcosz , M y"(0) = ( ).

5. [E=]
gy = (z - 2)F WIBRRB ().
6. [AZ

REH y = y(z) BFHIE eV — cos(zy) = 0 FREAE , M v'(0) = ( ).
7. [EZ

iﬁyIGSiHQz,)n\Udy:( ).

8. [EZ
f . d «C )

—— ) 4 P— .

zy/1— (Inz)?
=, TS (BRXEHESNME , §/00V831105 , #509)
1. [t&]
KRR lim & ¢ —2

z—=0 1—coszx
2. [itE]
2
E%l]f(:c):{w’ Sl s o1 mEmETS  Ra L b WA
ar+b, z>1

3. [itE]

=t
Rl {w  E -1 RTSEE
y=1+sint




4. [iT&E]
RRERS f(a:sing +z)dz .

5. [H&]

2 1
TEEHRD ——dz .
7 Jo 1+ 2z

U, LRE8 (X2 , §F/0/831105 , 3#£209 )

1. [E&]

BEZ y=2-2 , y=0 5% y = 2’(z > 0) FEBNWTEEERA D .
(1)K D wER S ;

(2) R D % z HiE—ERBESRNER V .

2. [HE]

K[y VEt —1)dt MEE , BiERIE , BIES , HE




